32 1/4" Panel Coverage

kz 11/16"#
R

* n Tx/
9/16 Anti-Siphoning Groove

#10 x 2" Painted Hex Washer Head Screw with Washer #14 x 7/8" Painted Hex Washer Head Screw with Washer

ATAS INTERNATIONAL, INC
Allentown PA
610-395-8445

Mesa AZ
480-558-7210

TITLE

Grand C Panel Profile Detail

DWG. NO. DR DATE
KRK 2/19/2016

APP DATE

MATERIAL

REV. SH. SIZE SCALE .
NO. DATE DESCRIPTION OF REVISION BY | APP B X_ X




Horizontal Panel

/ Interior Finish

Insulation

#14 x 7/8" Painted Hex Washer Head Fastener with Washer

1/2" Plywood (min.)

ML
== &:\_ )

NPamN'S

Water and Air Resistive Barrier

#10 x 2" Painted Hex Washer Head Screw with Washer

S NG EERN ARAY

Z
Z
|

Rl

Membrane Strip over Base Trim

#10 x 1" Wafer Head Screw

Grand C Panel

N

4

)

M
e UL

| . 7/8"
Base Trim

_+__ ‘92°|>/
i %\/&

1/2" 1/2"
BGA661 - Base Trim

ATAS INTERNATIONAL, INC
Allentown PA
610-395-8445

Mesa AZ
480-558-7210

TITLE K
Grand C Base Detail
DWG. NO. DR DATE,
KRK 2/17/2016
MATERIAL % pas |TE 8/8/16
T\IES/.' DATE DESCRIPTION OF REVISION BY | APP SH. SIzE B SCALE X:X




Horizontal Panel

Interior Finish
Insulation

#10 x 2" Painted Hex Washer Head Screw with Washer
1/2" Plywood (min.)

Water and Air Resistive Barrier
Grand C Panel

Membrane Strip over J Channel and Angle Trim

#10 x 1" Wafer Head Screw
Angle Trim

JCh [
Backer Rod and %re]ag ant

BGA680 - Angle Trim

"1 3/4"

1/4" CH.— = = |

* 3/4"
7/8"~J—~

BGAO34 - J Channel

ATAS INTERNATIONAL, INC
Allentown PA
610-395-8445

Mesa AZ
480-558-7210

TITLE

Grand C Endwall Detail

DWG. NO. DR DATE,
KRK 2/17/2016

APP DATE

DATE DESCRIPTION OF REVISION

MATERIAL DAS 8/8/16

SH. SIZE B SCALE X_X




Horizontal Panel - Alternate Detail

Inteiror Finish

Insulation

#10 x 2" Painted Hex Washer Head Screw with Washer

1/2" Plywood (min.)
Water and Air Resistive Barrier

Grand C Panel
Membrane Strip over J Channel and Angle Trim

#10 x 1" Wafer Head Screw

Snap J Channel
Backer Rod and Sealant

]

[}
3/8" C.H.——I;@J £y
oy
7/8"

"1 5/8".‘ n
| S8 BGA309 - Snap ] Channel
*” 1
\

|
R ATAS INTERNATIONAL, INC
Allentown PA
BGA680 - Angle Trim M MesAz
Mesa AZ
480-558-7210
TITLE
Grand C Endwall Detail
DWG. NO. DR DATE
KRK 2/17/2016
MATERIAL i DAS DATE 8/8/16
DATE DESCRIPTION OF REVISION BY | APP SH. Iz B SAE XX




Horizontal Panel

]

Outside Corner Post

/

\Grand C Panel

#10 x 1" Wafer Head Screw

Membrane Strip over Inside Corner Post

Water and Air Resistive Barrier

1/2" Plywood (min.)

Insulation
#10 x 2" Painted Hex Washer Head Screw with Washer

Interior Finish

3II

BGA601 - Inside Corner Post

ATAS INTERNATIONAL, INC
Allentown PA
610-395-8445

Mesa AZ

D 480-558-7210

TITLE

Grand C Inside Corner Detail

DWG. NO.

DR
KRK

APP

MATERIAL

DESCRIPTION OF REVISION BY | APP

DAS

SH. SIZE B




Horizontal Panel

VAL

\

\

W)

/Outside Corner Post

Interior Finish

Insulation

#10 x 2" Painted Hex Washer Head Screw with Washer
1/2" Plywood (min.)

Water and Air Resistive Barrier

Membrane Strip over Outside Corner Post

#10 x 1" Wafer Head Screw

~—-3/4"

3II

Grand C Panel

ATAS INTERNATIONAL, INC
Allentown PA
610-395-8445

Mesa AZ

\ D 480-558-7210
TITLE _ }
Grand C Outside Corner Detalil
DWG. NO. DR DATE
KRK 2/18/2016
MATERIAL ** pas | 8/8/16
'f\‘%/.' DATE DESCRIPTION OF REVISION SH. SIzE B SCALE y:X




Horizontal Panel

Coping System (Rapid-Lok Coping System)
Wood Nailer
J Closure

#10 x 1" Wafer Head Screw

Grand C Panel

Water and Air Resistive Barrier

1/2" Plywood (min.)

#10 x 2" Painted Hex Washer Head Screw with Washer

Insulation

Interior Finish

3/4"

7/8"

T

13/4"

g

BGA270 - J Closure

Allentown PA
610-395-8445
Mesa AZ
480-558-7210

ATAS INTERNATIONAL, INC

TITLE

Grand C Top of Wall Detail

DWG. NO.

DR

DATE

DATE

DESCRIPTION OF REVISION

MATERIAL

KRK 2/18/2016
APP DAS DATE 8/8/16
SH. SIZE B SCALE X_X




Horizontal Panel

| #14 x 7/8" Painted Hex Washer Head Screw with Washer (at Panel Lap)

Insulation
I #10 x 2" Painted Hex Washer Head Screw with Washer

Grand C Panel

Plywood Substrate

\ #10 x 1" Wafer Head Screw
\ Water and Air Resistive Barrier

u Membrane Strip

Ring Shank Nail

\
\
Base Trim

B 7/8" —=
] EE Window *
3
1_/&
>
=k

1/2||
ATAS INTERNATIONAL, INC
" Allentown PA
BGA661 = Base Tr|m 61(;22:-:;45

480-558-7210

TIT) . .
Grand C Head Window Flange Detail
DWG. NO. DR DATE,
MBP 7/27/2018
APP DATE
MATERIAL
':\‘E(;/ DATE DESCRIPTION OF REVISION BY | APP SH. SIZE B SCALE X . X




Horizontal Panel

Y

\Window
—— Backer Rod and Sealant

J Channel
Ring Shank Nail
Angle Trim

#10 x 1" Wafer Head Screw

Grand C Panel
Water and Air Resistive Barrier

Insulation

.

*

BGA680 - Angle Trim

13/4" =
3/4"

1/4" CH.—»| | |

— ]

7/8" —-—

BGAO034 - J Channel

ATAS INTERNATIONAL, INC
Allentown PA
610-395-8445

Mesa AZ
480-558-7210

"Grand C Jamb Window Flange Detail

DWG. NO. DR DATE
MBP 7/30/2018
APP DATE

DATE DESCRIPTION OF REVISION

MATERIAL

SH. SIZE B SCALE X_X




Horizontal Panel

S

Window
Backer Rod and Sealant
Ring Shank Nail

J Channel
Angle Trim

#10 x 1" Wafer Head Screw
Water and Air Resistive Barrier

Grand C Panel
Plywood Substrate

Insulation

«—# 5/8"
3

15/8"

i

BGA680 - Angle Trim

3/4"—=
13T/4" _L *

BGAO34 - J Channel

7/8"

Allentown PA
610-395-8445
Mesa AZ
480-558-7210

ATAS INTERNATIONAL, INC

""Grand C Window Sill Flange Detail

REV.

NO DATE DESCRIPTION OF REVISION

BY

APP

DWG. NO. DR DATE,
MBP 7/30/2018
APP DATE
MATERIAL
SH. SIZE B SCALE X_X




Horizontal Panel

)

|
AR v'wa

Nl

Interior Finish

#14 x 7/8" Painted Hex Washer Head Screw with Washer (at Panel Lap)

Insulation

1/2" Plywood (min.)

#10 x 2" Painted Hex Washer Head Screw with Washer

Water and Air Resistive Barrier

Membrane Strip over Head Trim and Fastener

#10 x 1" Wafer Head Screw

Grand C Panel
Head Trim

Backer Rod and Sealant

-~ 7/8"
N
S.S. Painted Pop Rivet (24" O.C. Max.) ’ 3/4"
: )
Window 3/4" V
Support Z

~—=-7/8"

3"

BGAS550 - Head Trim

ATAS INTERNATIONAL, INC
Allentown PA
610-395-8445

Mesa AZ
480-558-7210

"Grand C Head Existing Window Detail

DWG. No. DR DATE
MBP 7/18/18

APP DATE

REV.

NO. DATE

DESCRIPTION OF REVISION BY

APP

MATERIAL

SH. SIZE B SCALE X,X




Horizontal Panel

e

Window

Insulation "1 3/4" =

Backer Rod and Sealant \
Angle Trim 1/4" C-H-"‘ - ’

J Channel * o
#10 x 1" Wafer Head Screw — /&
Membrane Strip BGAO34 - J Channel

Interior Finish

Grand C Panel

’-1 5/8"-‘ /g

*l !
| 4

Water and Air Resistive Barrier

1/2" Plywood (min.)

BGA680 - Angle Trim

#10 x 2" Painted Hex Washer Head Screw with Washer

ATAS INTERNATIONAL, INC
Allentown PA
610-395-8445

Mesa AZ
480-558-7210

"Grand C Jamb Existing Window Detail

DWG. No. DR DATE
MBP 7/18/18

APP DATE

MATERIAL

';E(;/' DATE DESCRIPTION OF REVISION BY | APP SH. Iz B SAE XX




Horizontal Panel

/Window
gl
- /Backer Rod and Sealant
- - & | J Closure
[N
L
il #10 x 1" Wafer Head Screw
2]
il
i ii | Grand C Panel
i
[N
| II‘
[N
oyl
[N
|
g Water and Air Resistive Barrier
ik
I
ey 1/2" Plywood
il
[N
AN
]
|
[N
[N
[N
i
i Insulation
1
i
i ii } Interior Finish
1
77T |
[N
| II‘
[N
)
[N
[N

#10 x 2" Painted Hex Washer Head Screw with Washer

5/8" —

15/8"

i

BGA280 - Angle Trim

Allentown PA
610-395-8445
Mesa AZ
480-558-7210

ATAS INTERNATIONAL, INC

"Brand C Window Sill Existing Window Detail

DWG. NO.

DR
MBP

DATE
7/18/18

APP

DATE

DESCRIPTION OF REVISION

MATERIAL

DATE

SH. SIZE B

SCALE X . X




Horizontal Panel

T

Interior Finish

Insulation

#14 x 7/8" Painted Hex Washer Head Screw with Washer (at Panel Lap)

1/2" Plywood (min.)

#10 x 2" Painted Hex Washer Head Screw with Washer

Water and Air Resistive Barrier

Membrane Strip over Head Trim and Fastener

#10 x 1" Wafer Head Screw

Grand C Panel
Head Trim

Backer Rod and Sealant

Head Angle Trim

Painted Pop Rivet (24" O.C. Max.)

Window

’73 7/8" —— 1/2"
!

*

T A oy

1/2" W.H.

BGA690 - Head Angle Trim

B - 7/8"
X
3"
T 920
y

BGAS550 - Head Trim

Allentown PA
610-395-8445
Mesa AZ
480-558-7210

ATAS INTERNATIONAL, INC

TITLE K
Grand C Head Detail
DWG. NO. DR DATE,
KRK 2/17/2016
MATERIAL i DAS DATE 8/8/16
';Eg.' DATE DESCRIPTION OF REVISION BY | APP SH. SIzE B SCALE X:X




Horizontal Panel

Window
Angle Trim with Return

Insulation

Backer Rod and Sealant

13/4" =
Angle Trim
J Channel

Butyl Tape 1/4" CH.—=] =
#10 x 1" Wafer Head Screw —

*
Membrane Strip over J Channel and Angle Trim __7/8"

Interior Finish BGAO034 - J Channel

\

|

Grand C Panel

1/2" W.H.
L Water and Air Resistive Barrier | 5/g
—\ 1/2" Plywood (min.) ——
| Y
31/2" #10 x 2" Painted Hex Washer Head Screw with Washer
BGA680 - Angle Trim
* ’ ATAS INTERNATIONAL, INC
Allentown PA
‘ 610-395-8445
Mesa AZ
|‘ 3" -— 480-558-7210
TITLE
. ; Grand C Jamb Detail
BGA683 - Angle Tr|m W|th Return pwe. No. ® e [P/18/2016
MATERTAL P pas [T 8/8/16
TVE(;/ DATE DESCRIPTION OF REVISION BY | APP SH. SIZE B SCALE X:X




Horizontal Panel - Alternate Detail

Y \ Window

Angle Trim with Return

Insulation

Backer Rod and Sealant
Snap J Channel ~ m* ‘
Butyl Tape — 3/8"(:_H_4_{g i_
#10 x 1". Wafer Head Screw 7/8" * —r
Angle Trim

338" 34

3/8"
Membrane Strip over Snap J Channel and Angle Trim

Interior Finish

Grand C Panel BGAO39 - Snap J Channel

1/2" W.H.

Water and Air Resistive Barrier

"1 5/8".‘
— 5/8"
N 1/2" Plywood (min.)

*u ]
1

31/2" #10 x 2" Painted Hex Washer Head Screw with Washer

BGA680 - Angle Trim

ATAS INTERNATIONAL, INC
Allentown PA
610-395-8445

Mesa AZ

‘* C L 480-558-7210

B Grand C Jamb Detail
BGA683 - Angle Trim with Return

DWG. NO

DATE,
KRK 2/18/2016

MATERTAL *F pas | 8/8/16
REV.

SH. SIZE SCALE .
No.| DATE DESCRIPTION OF REVISION BY | APP B X:X




Horizontal Panel

/Window

Backer Rod and Sealant

Window Sill Trim

J Closure

#10 x 1" Wafer Head Screw

Grand C Panel

Water and Air Resistive Barrier

1/2" Plywood

#10 x 2" Painted Hex Washer Head Screw with Washer

Insulation

Interior Finish

(-—————————

33/4" ﬂ—— 3/4"

1/2" W.H.

2ll

|

3/4"

13/4"

BGA270 - J Closure

BGA670 - Window Sill Trim

ATAS INTERNATIONAL, INC
Allentown PA
610-395-8445
Mesa AZ
480-558-7210

TITLE

Grand C Window Sill De

tail

DWG. NO.

KRK

DATE
2/19/2016

DESCRIPTION OF REVISION

BY

MATERIAL

PP
DAS

DATE 8/8/16

SH. SIZE B

SCALE X . X




